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USN 14MBA14
First Semester MBA Degree Examination, June/July 2016
Business Analytics
5 Time: 3 hrs. Max. MarkS'NjB’
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g SECTION - A \ 'S )
'§ Note : Answer any FOUR questions from Q.No.1 to Q. No(if /
¢ _g 1 What do you mean by regression Analysis? Give any 2 uses of it. ;m‘f*\;:*’ (03 Marks)
80 W
= %
g 5 2 What is an unbalanced Transportation problem? Give an example. (}\“) (03 Marks)
(=4
';"‘) 3 What is Binomial distribution? Write the formula to calculate probé& (03 Marks)
=4 .
g ;‘, 4 Explain Single Factor Experiment. Mw ) (03 Marks)
2 § . . . .
'ﬁ E S Explain the assumptions of Linear programming model. \%~ (03 Marks)
) N «
E é 6 What is a Decision model? Explain. O (03 Marks)
2§ N\
5 S 7 What is cluster Analysis? Explain. ‘ (03 Marks)
R
S TION - B
g *§ Note : Answer an% MUR questions from Q.No.1 to Q.No.7.
S
2 g 1 Explain briefly the different tmﬁf Dec151on making environments. (07 Marks)
Q
-9 —
é. g: 2 Explain the basic dxfferengm‘%etween PERT and CPM. (07 Marks)
8 % ~
X 3 What is Multi Dlr:’:eé:&ﬂal Scaling? Explain the steps. (07 Marks)
4 Solve the foll wﬁ‘;’LPP using Graphical method.
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2. Any revealing of identification
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rtant Note : 1. On completing your ant

Minimize Z #
SubJect t @: constraints
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3%, > 60
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é Machines
B M M, | M3 | My
Ji' S 7 111 | 6
J,| 8 5 9 6
Jobs T4 T 7 T10 7
J4| 10 | 4 8 3

(07 Marks)

Four different jobs can be done on four different machines. The cost of producing Job ‘j’ on

\2}‘» ~ machine ‘m’ is given below. How should the jobs be assigned to various machines so that the
total cost is minimized?

(07 Marks)
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6 A Project yields an average cash flow of ¥ 500 lakhs, with a standard deviation of ¥ 60 lakhs,
Calculate the following probabilities.
a) Cash flow will be more than 560 lakhs
b) Cash flow will be less than 420 lakhs. (07 Marks)

7 The following table gives the activities in a construction project.

Activity | Immediate predecessor | Time (days)
A - 4 \Q
B - 6 6 N
C - 2 A%
D A 5 -
E * 2 RS
F A 7 ©O
G D, B,E 4 QA\
a) Draw a network diagram )
b) Determine critical path and project duration. Q(br (07 Marks)
SECTION - C 4

Note : Answer any FOUR questions f;o&.No.I to Q.No.7.
1 Explain the rules to be followed during the constructi@/bf network and the common errors

occurred during the construction. N - (10 Marks)
¢ L
2 Explain the various aspects of “Data for Businesg\g‘?alytics”? (10 Marks)

&
3 A small project is composed of 7 activitieﬁvhose time estimates are as given below.

Estimated duration (wéek$)
Activity | Optimistic | Most likely NPessimistic
1-2 1 1 ~AY 7
1-3 1 4 @y 7
1-4 2 el 8
2-5 1 1 1
3-5 k0% 5 14
4-6 2, O 5 8 -
| 5-6 W 6 15
a) Draw ghe-project network diagram.
b) Fi expected duration and variance of each activity. What is the expected project
-1éngth and project standard deviation?
Iculate the probability of completing the project by 13 weeks. (10 Marks)
4 g%Aa.Sample of 50cars each of 2makes X and Y is taken and average running life in years is
*{fj?:::%ecorded.
: ﬁif?’: Life (No. of Years) Do. ot £ oes
D\ ; Make X | Make Y
X 0-5 8 6
5-10 12 10
10-15 17 20
15-20 10 12
20— 25 3 2

a) Which of these two makes gives higher average life?
b) Which of these makes has shown greater consistent performance? Use standard
deviation. (10 Marks)
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5 The following data gives the experience of machine operators and their'performance ratings.
Operator P2 13141516718
Experience (inyears) | 16 | 12 [ 18| 4 | 3 [ 10| 5 | 12
Performance Ratings | 87 | 88 | 89 | 68 | 78 | 80 | 75 | 83
Calculate the regression line of performance rating on experience and estimate the probable
performance rating if an operator has 7 years of experience. ao Ma'lﬁ:)
6 Explain briefly the steps in undertaking cluster Analysis. (10 Marks)
7 An investment company has ¥ 20 lakhs available for investment in government borggéyfgl‘ﬁe chip
stocks, speculative stocks and short term deposits. The annual expected return and@;@g(*factor are
given below. A
Type of Investment | Annual Expected Return (%) | Risk Factor (0 — 100%)¥"
Government Bonds 14 12
Blue chip stocks 19 24 Mo
Speculative stocks & 4350
Short term Deposits 12 A O\
The company is required to keep at least ¥ 2 lakhs in shorttghm deposits, average risk factor
should not exceed 42 ; speculative stocks must be at mg%%ercent of total amount invested.
How should the company invest funds so as to maxithiZe its total expected annual return?
Formulate a LPP. & (10 Marks)
CASE STUDY~ [ Compulsory |
R
8 a) For the following Transportatigﬁ«;gfmem find initial solution using
i) North west corner method (i) Least cost method
To 275
I B m ipply
From A[ 5| 1| 7Z{\* 10
B| 6| 449 80
C|l 3 [\T)'8 55
Demand | 75 [\20 | 50
R0 (10 Marks)
b) A company has 3 fabrics S;, S, and S; with production capacity of 7, 9 and 18 units
;-o per week of a product respectively. These units are to be shipped to four
@»ﬁ ouses Di, D;, D3 and D4 with requirement of 5, 8, 7 and 14 units (in 100s) per
~Week respectively. The transportation costs (in Rupees) per unit between factories to
()" warehouses are given below.
4 \NJ D] Dz D3 D4 Supply

N1 S [19]30]50]10] 7

Sz 70 | 30 | 40 | 60 9

S; 40| 8 | 70| 20 18
Demand | 5 | 8 | 7 | 14
1) Find initial solution using VAM method
ii) Test for optimality using MODI method.

(10 Marks)
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